


516 283

Five hundred and sixteen thousand, two hundred and eighty three 7112098 Seven million, one hundred and twelve thousand and ninety-eight

2 245 590 Two million, two hundred and forty-five thousand, five hundred and ninety

9390 519 Nine million, three hundred and ninety thousand, five hundred and nineteen

1101010 One million, one hundred and one thousand and ten

787 865 Seven hundred and eighty seven thousand, eight hundred and sixty five
3883091 Three million, eight hundred and cighty three thousand and ninety one
7 060 696 Seven million and sixty thousand, six hundred and ninety six
10 000 000 Ten million
8 589 130 Eight million, five hundred and eighty nine thousand, one hundred and thirty
1 645099 One million, six hundred and forty five thousand and ninety nine
9 840781 Nine million, eight hundred and forty thousand, seven hundred and eighty one
5709 118 Five million, seven hundred and nine thousand, one hundred and eighteen




Ordering Numbers Answers

Order the numbers from smallest to highest.
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Card 1: 648

Card 2: 703

Card 3: 119
Card &: 7426

Card 1: 5559
Card 2: 399

Card 3: 99906

Card 4:15977

* & &
Card 1:13 648

Card 2: 42 886
Card 3: 703 291
Card 4:128 749










a. -8°C,-6°C,-4'Cc,-1°Cc,2°¢C,
. -15°C,-11°C,6°C, 10°C,14°C
, -25'C,-23°c, -13'C, 12°C, 16°C, 18'C 20°C

-4°Cc
. -8°C

-17°¢

-6°C

. 11°¢
13°C

-2C

8cC







1) Complete these calculations.

a) What is 7 less than -2? -¢

January

Temperature
change

February

Temperature
change

b) -5+11=6
c) What is 12 taken from 5 = -7 Twinkl Town

d) Add8to-9= -l

e) -10+14=4
Education Avenue

Learning Lane

I have a -£17 balance in my bank account. I put £15 into my account.
What is my new balance?

My bank account has £35 in it. I spend £49 pounds. What is my new
bank account balance?

I spend £35 on a new bike. The balance in my bank account is now
-£18. How much money did I have in my account before I bought
the bike?




1.

2
3
&
5
6.
7
8
2

362 to the nearest 100 = 400

. 565 to the nearest 100 = 600

849 to the nearest 100 = 800

. 623 to the nearest 100 = 600
. 715 to the nearest 100 = 700

890 to the nearest 100 = 900
321 to the nearest 100 = 300

. 245 to the nearest 100 = 200

550 to the nearest 100 = 600

10. 376 to the nearest 100 = 400




1. Round each of these numbers to the nearest 1000 and 10 000. Use the number lines below
to help you.

Number

Rounded to the
nearest 1000

Rounded to the
nearest 10 000

45 789

46 000

50 000

Number

Rounded to the
nearest 1000

Rounded to the
nearest 10 000

23 189

23 000

20 000




2. Round each of these numbers to the nearest 1000, 10 000 and 100 000. Use the number
line below to help you.

Number

Rounded to the
nearest 1000

Rounded to the
nearest 10 000

Rounded to the
nearest 100 000

361902

362000

360 000

400 000

Number

Rounded to the
nearest 1000

Rounded to the
nearest 10 000

Rounded to the
nearest 100 000

759 876

760 000

760 000

800 000




1. Round the following numbers to the nearest 1000, 10 000 and 100 000.

Number

Rounded to the
nearest 1000

Rounded to the
nearest 10 000

Rounded to the
nearest 100 000

235 784

236 000

240 000

200 000

537 182

537 000

540 000

500 000

137 872

138 000

140 000

100 000

872 538

873 000

870 000

900 000

2. Round the following numbers to the nearest 1000, 10 000, 100 000 and 1 000 000.

Number

Rounded to the
nearest 1000

Rounded to the
nearest 10 000

Rounded to the
nearest 100 000

Rounded to the
nearest 1 000 000

3 476 389

3 476 000

3 480 000

3500 000

3 000 000

7 307 381

7 307 000

7 310 000

7 300 000

7 000 000

5937037

5937 000

5940 000

5900 000

6 000 000

4 502 378

4 502 000

4 500 000

4 500 000




3. Circle the numbers that would make 570 000 when rounded to the nearest 10 000.

562 893

568 291

566 873

562 278

561 499

4, Circle the numbers that would make 4 700 000 when rounded to the nearest 100 000.

4782 674

4 755 278

4779 378

4 796 278




1. Find all the numbers above that have the following:
7 in the tenths place 0.77,0.79,0.72, 0.73, 0.74, 0.78

4 in the hundredths place 0.14, 0.24, 0.54, 0.74, 0.34

1 in the tenths place 0.14, 0.1, 0.13, 0.12, 0.17, 0.19

3 in the hundredths place 0.13, 0.03, 0.63, 0.73, 0.33

5 in the tenths place 0.5, 0.52, 0.56, 0.54, 0.55, 0.56, 0.59

Sidihehndniicpince 0.79, 0.19, 0.69, 0.09, 0.29, 0.59,

2 in the tenths place and 6 inthe | () 26
hundredth place

2. Complete this Venn Diagram with these numbers.
0.47 0.37 0.12 0.53 0.87 0.41 0.79 0.19 0.42

4 in the tenths place. 7 in the hundredths place.




9 in the hundredths place

not 9 in the hundredths place

8 in the tenths place

0.89

0.81, 0.85

not 8 in the tenths place

0.99, 0.69, 0.19

0.43, 0.33,
0.97, 0.96,
0.36, 0.16,
0.52, 0.31,
0.25, 0.62




8 in the tenths place 0 in the hundredths place

4 in the thousandths place







26 + 3829 =

=643 + 8.2

1.72 =100 =

6315 +5=
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76 (or equiv)
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EE

w.m. (or equiv)
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